A

S ZAIL D

E: (f52 N L FIF SNV (RHLDB/HR)

Sl 2RTAIF A2 (e @
SH- B SA(BH) - NBAY - BES Ol & 24 p/E-T HRS2
SYEIAIL D 70,585,631 22,875,631 47,710,000

= 272,849 272,849 0

J| 3,000,000 3,000,000 0

S 67,312,782 19,602,782 47,710,000

Oalzte I & 2IE SN2 (ESL2E/HK) 10,019,888 9,209,888 810,000
= 272,849 272,849 0

S 9,747,039 8,937,039 810,000

SEIZINE sA2el 10,019,888 9,209,888 810,000
= 272,849 272,849 0

s 9,747,039 8,937,039 810,000

SZTIFIE 43t 810,000 0 810,000
403 AXIEHHS K= 01 & 810,000 0 810,000

01 XM= Ex 810,000 0 810,000
OFMZmAIIE ANLEES XA 810,000 0 810,000
Heas(SgdAML) (2L 2Z/H=) 55,925,280 9,025,280 46,900,000
RSN 55,925,280 9,025,280 46,900,000
SETANE 20t 2NEXZ g 46,900,000 0 46,900,000
802 gtet = JI Bt 46,900,000 0 46,900,000

01 =Ex3EHE 3 46,900,000 0 46,900,000
o018EHSH=SE L ZIIUA AN&LH XA 46,900,000 0 46,900,000
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